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F 3 BMEERFZENABREKRNENE B4 S > Hrh NaCl (B fi# ) i
K,SO, ( Cfd ) BRI A S B JE - ﬁﬁjﬁ‘éﬂ%iﬁﬁﬁﬁ%ﬁﬁlm HEH ;IL@M%&
F (8,07 ) Bk + (1) RIEFR SO, & 1, A EEMREEF (8,07 ) &
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A B C D E F
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1 2.0 2.0 2.0 1.0 1.0 2.0 50.0
2 2.0 2.0 0 1.0 1.0 4.0 24.8
3 4.0 0 2.0 1.0 1.0 2.0 25.0
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(A % =T DL B K S HE 12 i 52 2 4 s 2
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% 50 psi 1% > LA ER ST Al 4ERF 10 o8 A B1E o HoA oy AT AN FEREE > WFF &5
FREE GRE) > FrieEREEOE 11 HiiREsRERER (1) Frikfye
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5% R AR AP BT RIE (S) B ERR 006 T
H 0.05 1N+

BEHYTER (P) RRIEEE - HEEGIH 8 K= HE B E &
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(kg ) BT RRAT 0.041 >

S =k, xP 003
> =1=] e N J= 0.02 + + : i
S ef i S B P AR 5y B R BB S ERAE (M) BLAR 0 10 20 30
FEJ3 Catm) - ifij CO, HY k,, B & A RE (el B 12 Ao i1

12
CO,(9) & A 7Kt 4 5 CO,(aq) #& » /N6 43 75 A /K 1 iy CO, (aq) & 81 /K 2 & 7% Bk
H,CO,(aq) » £ 25°CHF » H P i fE A BLF 5 H B T

[Hzcos(aQ)] 3
CO,(aq) + H,0(l) = H,CO,(a K, =—/————= = 16x10
( q) () ( q) [COz(aq)]

ifi H,CO; (aq) £ /K & fi it ok H' (aq) 81 HCO,™ (aq) » H P K7 i 0B SE g e 1
H,CO,(aq) = H"(ag) + HCO, (aq) K, = 25x10*
S — RBARERTS KM o By 25°CHE > A 59 CO,(9) BE I By 2.5 KEBE » 5 HE
BEAER > FAHEES BETYIME - (F—F&E2 57 #E84)
27. 757K CO, (aq) Ay (M) BE B 2 (243)
28. T HI S i F7 FE Y S EEUE Ry T 2 (2 43)
CO,(aq) +H,O(l) = H"(aq) + HCO, (aq)

29. FRK P EEE TR H (aa)] (M) BE Bfal 2 (2 53)
(\2=1.41,3=173)
30. FHA B CO,(9) B AR RS & % 5K RE F 3 2 35CHE » 57K CO,(aq)
HIOREE EFECNREE? (299)
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